
hockey ≤ 0.006
entropy = 5.129
samples = 35

value = [1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1
1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1

1, 1, 1, 1, 1, 1, 1]

game ≤ 0.156
entropy = 4.755
samples = 27

value = [0, 0, 0, 0, 1, 1, 1, 1, 1, 1, 1, 1, 0, 1
0, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 0, 1, 1

1, 0, 1, 1, 1, 1, 1]

True

bengal_hockey ≤ 0.417
entropy = 3.0
samples = 8

value = [1, 1, 1, 1, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0
1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0

0, 1, 0, 0, 0, 0, 0]

False

avalanche ≤ 0.834
entropy = 4.392
samples = 21

value = [0, 0, 0, 0, 1, 1, 1, 1, 1, 1, 1, 1, 0, 1
0, 1, 0, 1, 1, 0, 1, 1, 0, 1, 1, 0, 1, 1

1, 0, 1, 1, 0, 0, 0]

letsgopens ≤ 0.294
entropy = 2.585
samples = 6

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 1, 0, 0, 1, 0, 0, 1, 0, 0, 0, 0, 0

0, 0, 0, 0, 1, 1, 1]

letsgooilers ≤ 0.918
entropy = 4.248
samples = 19

value = [0, 0, 0, 0, 0, 1, 1, 0, 1, 1, 1, 1, 0, 1
0, 1, 0, 1, 1, 0, 1, 1, 0, 1, 1, 0, 1, 1

1, 0, 1, 1, 0, 0, 0]

entropy = 1.0
samples = 2

value = [0, 0, 0, 0, 1, 0, 0, 1, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

ml ≤ 0.383
entropy = 4.087
samples = 17

value = [0, 0, 0, 0, 0, 1, 1, 0, 1, 1, 0, 1, 0, 1
0, 1, 0, 1, 1, 0, 1, 1, 0, 1, 1, 0, 1, 1

1, 0, 0, 1, 0, 0, 0]

entropy = 1.0
samples = 2

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 1, 0, 0, 0, 0]

bruins ≤ 0.804
entropy = 3.907
samples = 15

value = [0, 0, 0, 0, 0, 1, 1, 0, 0, 1, 0, 1, 0, 1
0, 1, 0, 1, 0, 0, 1, 1, 0, 1, 1, 0, 1, 1

1, 0, 0, 1, 0, 0, 0]

entropy = 1.0
samples = 2

value = [0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0
0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

descent ≤ 0.866
entropy = 3.585
samples = 12

value = [0, 0, 0, 0, 0, 1, 1, 0, 0, 0, 0, 1, 0, 0
0, 1, 0, 0, 0, 0, 1, 1, 0, 1, 1, 0, 1, 1

1, 0, 0, 1, 0, 0, 0]

emotional ≤ 0.211
entropy = 1.585
samples = 3

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 1
0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

nhl ≤ 0.396
entropy = 3.459
samples = 11

value = [0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 1, 0, 0
0, 1, 0, 0, 0, 0, 1, 1, 0, 1, 1, 0, 1, 1

1, 0, 0, 1, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

pick ≤ 0.98
entropy = 1.585
samples = 3

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0
0, 1, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

recorded ≤ 0.29
entropy = 3.0
samples = 8

value = [0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 1, 0, 0, 1, 1, 0, 1, 1

1, 0, 0, 1, 0, 0, 0]

entropy = 1.0
samples = 2

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 1, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

fucking ≤ 0.69
entropy = 2.807
samples = 7

value = [0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 1, 0, 0, 1, 1, 0, 1, 1

0, 0, 0, 1, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

1, 0, 0, 0, 0, 0, 0]

max ≤ 0.136
entropy = 2.585
samples = 6

value = [0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 1, 0, 0, 1, 1, 0, 1, 0

0, 0, 0, 1, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1

0, 0, 0, 0, 0, 0, 0]

patric ≤ 0.999
entropy = 2.322
samples = 5

value = [0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 1, 0, 1, 0

0, 0, 0, 1, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

nhl ≤ 1.676
entropy = 2.0
samples = 4

value = [0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 1, 0, 1, 0

0, 0, 0, 0, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 1, 0, 0, 0]

lgrw ≤ 0.668
entropy = 1.585
samples = 3

value = [0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 1, 0

0, 0, 0, 0, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

entropy = 1.0
samples = 2

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 1, 0

0, 0, 0, 0, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

entropy = 1.0
samples = 2

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1
0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

rod ≤ 0.634
entropy = 1.585
samples = 3

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 1, 0, 0, 1, 0, 0, 1, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

entropy = 1.585
samples = 3

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 1, 1, 1]

entropy = 1.0
samples = 2

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 1, 0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 1, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

dkpghsports ≤ 0.769
entropy = 2.585
samples = 6

value = [0, 0, 1, 1, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0
1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0

0, 1, 0, 0, 0, 0, 0]

entropy = 1.0
samples = 2

value = [1, 1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

jessespector ≤ 0.683
entropy = 2.0
samples = 4

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0
1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0

0, 1, 0, 0, 0, 0, 0]

entropy = 1.0
samples = 2

value = [0, 0, 1, 1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

kidkingslick ≤ 0.516
entropy = 1.585
samples = 3

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0

0, 1, 0, 0, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 0, 0, 0, 0, 0, 0]

entropy = 1.0
samples = 2

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 0

0, 0, 0, 0, 0, 0, 0]

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

0, 1, 0, 0, 0, 0, 0]


